Vacuum Calculation Burden of Proof

David Njeru Kathuri

ABSTRACT

Burdenof proofis the obligation on somebody presenting a new idea (a claim) to provide
evidence to support its truth (a warrant). Once evidence has been presented, it is up to any
opposihg "side" to prove the evidence presented is not adequate.
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INTRODUCTION

Division by zero is the dividing of a quantity or quantities into zero parts. This calculation
was unsolved.

The background of division by zero dabekto the7" century toa mathematician by the
name Brahmagupta. Herote scientific paperentitled "The Brahmasphutasiddhanta of

B r a h ma dgrhigid tlze @arliedtnowntext to treat zero as a number in its own right and to
define opertions involvirg zero. Hehowever failed in his attempt to explain division by
zero.

According to Brahmaguptgb98 - 668 AD), a positive or negative number when divided by
zero is a fraction with zero as a denominator. Zero divided by a negative or positive number
is either zero or is expressed as a fraction with zero as numerator and the finite quantity as
denonnator. Zero divided by zero is zero.

In 830 AD, another mathematician called Mahavira tried unsuccessfully to correct
Brahmagupta's mistake in his bookGanita Sara SamgrahdA number remains unchanged
when divided by zero."
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PROBLEM

I.  Whena number is divided by zero and the resulhssumed to be zero, it
would be incorrect because the end result will have a remaamdeyou
canot remandeXor zero;

0
of 2
-0

2

ii. If decimal points are used, the answer will Ze&ro but there will be a
remainder and dtiyou cannot have eemaindeifor zero;

0.0
0| 2
-0
20
iji. I'f 1 tds divided via c dcakudation betausen ,
it 6s I mpansekainbmber (efy.@ero) by the same number and get

the same number as the result;

2
4

iv.  But one may ague: Since dividing zero by zero the result is izetbe
result vali®® The answer to this is thatero divided by zero is also equal
to any other number; therefore since it has more than one result, this makes
it an incorrect calculation because any calculation with more than one
reailt is an incorrect calculation.

Incorrect application of Calculus:

In Calculus division by zerois incorrectly assumed gorojected to bénfinity (H). This is
because rifinity canrot be mathematically definednless thequantitative meaning of
Division is changed.
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LITERATURE

Division by zero problenhas existed for over 1,500 years and many mathematicians and
philosophers have extensively attempted to solve this calculation but foucahiiiadrum.

Mathematicians, especially in Greece (the land of ancient philosophers), must have attempted
to solvethe problem. Due to the fact that division by zero is a very direct calculation
requiring avery direct solution, many great ancighinkers distancethemselves from the
calculation.It was easy for them to determine by themselves whetlegr ibd solvedhe
problembecause of its very direct nature, therefore tloeyd no need of philosophizing or
recording whathey had not solvedp avoid seemingreposterousThis explains why there
arevery few ancient text in regard to solving or attempting to solve division by zero.

Because it was difficult to solve this calculation, a metivad invented to help explain this
problem. This method came to be known as Infinitesimal Calculus. It invtteemfinity
conceptbut of numbers so small to be counted/calculatedcecan only be imagined to
exist.

Its symbol was introduced by John Wallis (1616703 AD), an English mathematician. He
used Wb for Infinitesimal

In my view, Infinitesimalk seemsimilar to 1/0 but are@ 0 t . Thi s Hiisdnvelsely au s e
infinite i.e. even if it approached zero to reach it, zer@aumber contains the qualities of

not only a positive but a negative number. In other words infinitesifoain what | call an
imaginary dichotomy line which traverses thpositiveto thenegativesidein such a ways

to becomecontinuously/infinitely destructivéo nortzero numbers.e. everyReal number

must achieve thdifea of being like zero which isbeing on the positive side and the
negative side, of a number line, at the same fioneanonymous)The only problem is that

Zero is theffea, all the other numbers literally break into parts until they become
dysfunctional. If they had life they would have digd the handsof the dichotomy

| i rsav/ofibduct since they dondt ,dysfunbtienalincountabtei n u o u s
hence the connotation Alnversely Infiniteo.

Another mathematician who speculated widely about infinite numbers was Gottfried Leibniz
(1646- 1716 AD) aGerman who is also one of the-icwenters of infinitesimal Calculus.

To Leibniz, both infinitesimalg= extremely small) and Infinite=( Hb) quantities were
ideal/perfect entities, not the same in natur@@weciable quantities but enjoying the same
properties. This idea is treated with restrdigtsome mathematicians becalrsinity cannot

be mathematically defined (unless tiigantitativemeaning of Division is altered n d¢b0 fi i s

nota number because it canntbtp be@. quantitative

NB ()+(#) @:0)+F) @HCH) =) (20 or ()
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MATERIALS AND METHODS

METHODS

METHOD1

Division by zero is solved viaLaw which states: Division cannot occur withddiovement.

In other words, for any division of a quantity to occur, there must be separation which
necessitates movement e.g. 1 (quantity) divided into 2 parts results in two equal parts; the 2
equal parts are as a result of separation which requires movement;

Figure showing Division of an Object

1 - Object
- = L VA : Object (Note the difference between& 1)
— r==--==-- I
- = ! VA | Object
e = = = -

The denominator determines the number of parts of the object.

Thus - determines the 2 parts
- determines the 1 part

Hence: — determines the 0 (nothing) part.

NB A number is a sign that represents a certain quanttile vacuum is a sign which
represents absence of the quantifgr justliket her eds not hing jsoita num]
is with vacuum. This means vacuum bam number and a part of nature at the same time.

 Vacuum is a number but Vacwsmp ace i sndt , because a Space i
yet Vacuum has no Volume or Measurement. In other words, Vacuum does not occupy space.
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Explanation of Method

a)

b)

Calculation:
When zero is divided by any number, except zero, you get zero but when any number
is divided by zero, you get the absence of the quantity that the number represents.

Elaboration

If you (for instance) divide one cup (quantity) into zpeots, it means it has not been

divided it at all; but any division requires separation and separation requires

movement; therefore, if you divide the cup into zero parts, you have moved it. Since

you have moved the cup, vodthatisaaled Vaeedun a spa
unless any other quantity e.g. air fills it, but the air quantity was not part of the

calculation hence making the answebe vacuum.

Meaning of the word Divide

The word Divide meanSeparation, therefore when you separatey quantity wholly

with itself, 1tbds Iimpossible unless it mo
nb any separation requires movememthen the division/separation of the quantity

takes place, you are left with a void unless a quantity e.g. air fills its space/place.

Therefore:
Any time one divides any quantity into zero parts, the result is vacuum
ie.
— = Vacuum
Applications:

If you give a computer a command to find the chemical formula of some chemicals
whose answer must be a numbanded by zero, you are instructing the computer to
find the chemical formula of creating/forming vacuum.

The same could apply to electronic science calculations. If it could be possible to find
the electronic calculation formulae whose answer is vacutuwwguld be possible to
have vacuum electricity, rays etc.

Conclusion:

Any calculation of science whose result is any number divided by zero is
Vacuum.

l.e. ®=+0=Vacuum
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METHOD?2

TimeMethod

Imagine you £ matter) are standing, and then timetopped. If you move, while the time is
stopped, youodll |l eave vacuum for no air or a
time has been stoppe@. G3Y ‘Q QM Qi 6 B¥@HY. 19)

This illustration proves:
When Real Time is absent, Vacuum is present.

Therefore,if Real Time is matter, Past Time is Vacuum.

l.e. Real Time = Matter (NB: Real Time is Present Time)
Past Time = Vacuum
Therefore: Real Time: Past Time:
Matter = Vacuum
Therefore:

Vacuum § matter in past time.
l.e.  Past time of matter = vacuum
Thus: past time= vacuum
This proves that:
b2 YIGGSNI SEAaGE Ay (GKS LI ad oF2NI AGQE | @24

But past time is calculated as the subtraction of Real Time, therefore past time is the
negative(-ve) of Real Time.

e.g.if Real Time = 2am

Past Time 0 hrs, min, et2.00 am =-2 am
Therefore:

Any calculation of Real Time=(ResentTime) whose result is negative time is vacuum
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l.e. c¢ve Time = vacuum
Hence: -2am = 1/0

If these calculations are totally true, vacuum must be the opposite of Real&io@p. ©
-2 am = 2 am in Real Time calculations; but opposite also means recipreaatiimm
Calculations (as explained later

Therefore: opp. o¥acuum = Real Time
Hence: opp. of 1/0 = Q=0

The answer is zero which can be translated as Real Time beéanysaddition of Real
Time is defined as the future, while any subtraction of ReaH Present) Time is the past.

1 Mathematical lllustration of Time

Time Number line

Past<€ I I I I I T T T | > Future
4 -3 -2 - 0 1 2 3 4

\_Y_I\_Y_I

hrs, min,sec. hrs, min,sec.
Real Time[ o ° | ' ]
CHd Om
Thereforethe reciprocal calculation has proven that:
Vacuum is the opposite of Real Time.
l.e. Opp ofvacuum = Real Time
Hence: oppof/0 = O
Thus:Any reciprocal of a vacuum calculation is Real Time;

Hence explaining vacuum a&ny number divided by zero, via the reciprocal method of
Real Time.
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THEOREMSMATERIALSRELATED TO DIVISION BY ZERO

Division by zero mustatisfy thesel7 requirements and theorema orderto work correctly
and so that to avoid errors incalculation Failure to adhere to any of these requirements
maylead to an undefinedndeterminateor meaningless resultherefore these
requirements and theorems must be understood fitstfore proving or disapproving any
result relating to division byero.

MATERIAL 1

a) Reason why Vacuum is a Number

Vacuum is an abstract object, just like other numbers, because it cannot be touched or felt. In
other words it does not exist without space i.e. vacuum space. This is also totally true for
Natural numbers which do not exist without space e. g the numeral '1' does not exist without
an object that has space & '2' couldn't exist without 'an object + an object' that occupy space.
This is because it's the space that enables us identify with Inatanbers, without which the
numbers wouldn't exist at all. In conclusion it is wise to nbgespace that brought about

Natural numbers hence all space including empty (= vacuum) & anonymous (Szace)

must be identified with Btural numbers; othetse it would have been possible to

create/define natural numbers without space, of which it's an impossibility.

Philosophical QuoteSpace is thequeen mother of Natural numbers without which no
Natural number would exist.

b) Reason why Vacuum is a Number via a Linguistic P erspective

In linguistics, a word grows/strengthens when it's meaning becomes more concise and
common. In other words, it moves from having mundane and difficult meaning to more
specific ones. This makes the word be easily understaozehesed by more people. Though
this is true, it's not always the case unless the word finds general use; for example, the
English word oneness (= unity) can be common because of the general use of the
word/number "one".

In our case, the word vacuum Heeen strengthened from "absence of matter/quantity” to a
number that means the same (i.e. the (numeric) resultant of (an) absenyyudis has
diversified is meaning hence strengthenedwloed thoughthe meaning of the two
definitions are similar.

In conclusion, an Academic Point of View, which always relies on what is already known,
defines Vacuum as absence of matter/quantity. On the other hand, a Scientific Point of View
which always relies on discoveries, views Vacuum not only as absencetef meatas the

Vacuum CalculatiorBurden of Proof Pagel2



numeric resultant absence of a countable quantity. It's important to realize, though, that a
Scientific View Pointbecomes Academic once it's found to be true or/and scientifically
theoretical Vacuum as a number, passes this "test" wittoat ease vithe Division Law

i.e. unless someone proves the law to be not, vacuum is proven to be a number forthwith and
without discourse.

c) Difference between Vacuum and £ro.

Vacuum is a number that represents "a nothing" that's been defined a$ quo#htity i.er ;

while zero is a number that represents "a nothing" that's only a nothing by name rather than
by value, hence it's value is not known by name though exists as a quantity by virtue of
having a power greater than the absence of quarityacuum, hence anonymous, e.g.

nht etc. bt A 8 1)

In a practical sense

Suppose | have 5 cups and | subtract them from 5 cups, it means | have 10 cups to start with,
but this isn't the case. This is because if | subtracted the 5 aupsld remain with another
5 cups which would have been an incorrect calculation because

UV L TEIiUL Vv T

This means one of the 5 cups exist by name, but not by its quantitative.galue

VO L T OO U VO U
This provest's possible to compute a quantitative value that exists by name rather than
its quantitative value vis-a-vis the numeral zero.

d) Breaking Down the Understanding of Negative Numbers as Opposite Numbers

bS3IGADBS bdzYoSNE R2 yaQh OBABIRBIFGIAGOGHDET &
goes without saying that their value as Opposite Numbers also exists as a hame rather than
quantitatively.

In a figurative sense, Negative Numbers are alien numbers that only exist by name rather
than by their gqantitative value or for that matter by their spatial (= space) value like
Vacuum does (see p@2) ¢ The only way to understand them is to visit their alien world
which exists in the noguantitative & nonspace realms.

This is the complexity of Negative Numberdhey exist as the oppositof (positive)
guantities hence are noqguantities like Vacuum but at the same time they are ton
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guantities (= nothing) that can be specifically determined etg. ¢B but 2/0 = 3/0; hence
GKSAN) Gy20KAy3IySaae Aa y2iyspaadlditesningd. 6 SO dza S
¢tKA&a O2YLX SEAGEe R2Sa&a SEA&G Ay NBILE fATFTS AdSce
fl g aK2dZ R 06S YIRSé¢d ¢KS O2YLX SEAGE 6AGK (K
O2yaARSNBR I fFg 0SOI dzasa aylz2l §& 60 KK 2Wi IRG D SO 2
and a law at the same time visO AGhH qib € @

e) Opposite also means Bciprocal in Vacuum Calculations ONLY

Opposite Reciprocal
T TT m -
0 T Vacuum

Therefore:  Opposite TT

Reciprocal of vacuum Tt

Thus Opposite = Reciprocal of Vacuum

Hence:Opposite of Vacuum is NOT its Negative but its Reciprocal.

Explanation: The opposite of zero is zero (hence: opposite = zero. This is bexanase
equates its own oppositeas a result of its anonymity); but the reciprocakefo isvacuum.
When simplified it yields: Opposite = Reciprocal of Vacuum. This equation proves that the
opposite ofvacuum ineither its negativenor positive but its reciprocal.
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f) Further Analysis of the Opposite of Vacuum

One mayargue the Opposite of Vacuum is not Zero because tipp@3ite ofZero isZero.
To put this into context, we will use the numeral One instead of Zero and repeat the same
equation,

Opposite Reciprocal
p P p P
But: ph p min RealTime calculations (see pgt & 37)
Therefore:
Opposite Reciprocal
P pt T T p pt M T
Hence:
Opposite Reciprocal
m T T T Nb Reciprocal oke Tt 1t aéits actual
0 0 guantities or quantity is known whic

Ay GKAa) OFas Ara
Simplified, it yields: Opposite of Zero = Reciprocal of Zero

Hence Opposite of Zero = Vacuum

NB Opposite of Zero iZero because of its anonymity whiam turn leads to the birth of
negative and positive numbers i.e. Opp.@f p8

On the other handincethe Opposite of Zero igacuumin the context ofanonymityrather
than a specific quantitythen the Opposite of Vacuum is Zero.

In conclusion, we cascientificallyand logically state that the Opposite of something is
nothing; but the @posite of a nameless thing is either nothingitsrnamedactual quantity
i.e. Opposite o negative is its positivguantity and vice versa.

Vacuum CalculatiorBurden of Proof Pagel5



g) Mathematical Propositi ons and Analysis for Specific Calculations

1. Another name for Reciprocal is Specific

As explained above, the Reciprocél &1t 1T & its actual quantities or quantity is known
which in tre above case wagm ®

In other wordi = A ¥ W5 RealATine NumbBehé® @s/R&ckpiOcal is 0 but when it is
not, its reciprocal is 1/0.

This showghat when theNS LINSASy GF GA2y 2F %SNR A& &aLISOAT
whennord LISOATAOS (G4KS NBOALINROFIE 2F Wn I mMknQ®

This proves/shows that anothey' I YS F2NJ wSOALINROI f A & {MWHAR F A
hence the Specific calculatiofi 2 NJ WH  Gpedifi& caltulatior® 8 MJ 2Partiisee
pg22& 22) and so on.

2. Application of Specific Calculations

Suppose we are trying to accugaf @ RA @A RS | ¢ FhidlisOnpdssibfe bécaugeS Wp k
GKS SYyR NBadzZ G Aa I NBOddINNAY3I ydzYoSNI AdPSd pk
dzi GKS {LISOAFAO OIFfOdzE A2y F2N WpkT1Q Aa ¢
We can therefore determine/calculate the exact numeric value for the recurrimghber by

being specific i.e.

The specific calculation for 5/7 = 1.4

Hence the Specific calculation for 1.4 = 1/1.4 = 1.4 parts

¢CKSNBT2NE nodtTmMnuHX I mdn LI NI a

3. Difference between a Specific Number & a Specific Calculation

f Aspecific numberrefeis 2 (G KS F OldzZ £ ydzYoSNI Se3d GKS |
9 Aspecific calculation refers to the reciprocal calculation e.g. the Specific calculation
F2N WHQ Aada Ww .LI NIaAaQ 2NJ WMKHQ A®S

4. Difference between a Non -specific Number & a Non -specific Calculation

f ANonda LISOAFAO ydzYoSNJ NBFSNE (2 I NBOdzZNNRy 3
1 A Nonspecific calculation is a reciprocal calculation where either of its possible
reciprocal calculations leado a recurringnY 6 SNJ S®3d ckT1 dmcmdy pT X
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5. Types of Reciprocal Calculation

In this regard, | propose that a reciprocal calculation is divided into two categories:
Spediic & Nonspecific calculations

As earlier explainedecific calculation refers to the reciprocal calculaseng. the Specific
OF £ Odzt I (i XY OWeKNINGERLDY A a W

On the other handNonspecific calculation arereciprocal calculatioawhere either of its
possible reciprocal calculations leatbrecurring numbesS @3 d® ck1 I DS@gp XX 39

6. Types of Multiplicative Inverse

Since a reciprocal calculation can also be understood (= calculated) as a multiplicative
inverse, it goes without saying it can as well be divided into: Specific &splmific
calculations.

7. Advantages of Specific Calculations

The advantage of Specific calculations is they ensure that the exact value of a number is not
f2ald So3dis adnapprawimation Qforthe exact value 1.4 parts orpg .
(Nb. wn ®i o)

The other advantage of Specific calculations is in Geometry where instead of having an
approximate value which would alter the end result, we could use Specific calculations for
the w& waxis i.e.

ST T T T T T[T T T 2 *aXs

Note

T m 1R i Wacuum (see pg2?)
1 m falls under Norspecific calculations.
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MATERIAL 2

The Future and Past are Void

Explanation 1

a) Future:
I f time is slowed and yours isnot, your
therefore your time wil/ be in the future
I f you move, youol l |l eave vacuum because
other matte to fill your space because its time has been slowed; hence the future is
void.

b) Past:
I f time is stopped and your isnét, the ti
their time has been stopped.
I f you move, youol l | eamy other matteruwill fill youe c a u s e

space because its time has been stopped; hence the past is void also.

Explanation 2

Proving that Past and Future are Vacuum

i Past:

When an object is moved from point A to B, point A becomes the past of point
B because the object was (= past) in Point A and now (= present) is in point B;
but point A is vacuum unless air or any other matter fills its space. This is
because when the objemoved from point A, an empty space (= vacuum) was
formed (unless air asther matter fills this space).

(¢ YN QQMQI o BYBHND

ii. Future:

When one expects an object to move fro
move to point B because itodés just an e
reason it moves to point B, the distance betws®nt A to B becomes empty

space (= vacuum) unless airany other matter fills the space. Since any

expectation of a latter time is the future, the distance between point A and B is

the future at the time the movement of the object was taking place.

(¢ YN QQMQI o B¥AHN
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Explanation 3

Proving that Vacuum is f ormed when Matter is Absent

Vacuum means absence of matter; In other words, vacuum equates to absence of matter,

i.e. Vacuum = Absence of matter.

This means when matter is absent either by movement or any other means, vacuum is
present; therefore if one moves an objéavould mean the object is absent from its previous
location; this equates to vacuum unless any other matter e.g. air fills the vacuum space.

1 Proving via Speed:
Any Movement requires Speged
‘aB YR QQMQI 6 & H AN QQE

€1 Y Oory

I n this case the 6T6 = Real Time (where a
past);

‘asB YoOYQO®aG Q

mE OQ Y ™

YRiI QQ¢ TYQ Ofn

Since any number/ val ue dinanymdathematicgi 606 equ
setting then:

YR QQ DD 6D &

This provesAny Movement/Speed in Real Time equates to Vacuum.
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MATERIAL 3

Vacuum Related lllustrations

a) Difference between Divisbn by Zero And Non-Zero Numbers

The difference is shown via division of an object.

i.e.

p = Object

- - I VA || Object

The denominator determines the number of parts of the object.

Thus — determines the 3 parts
- determines the 2 parts
- determines the 1 part

Hence: — determines the 0 (nothing) part.

b) Proving Opposite of Zero is Zero

The easier method is done via sequence method of calculation:

i.e. 3)1 6 =(3)
271 4=(2
Q)7 2=(1)

Vacuum CalculatiorBurden of Proof Page20



Hence: 0)i 0=(0)
Explanation:
If the opposite of 3 is3 (asabove), 2 is2 and so on, then the opposite of zero is zero.

lllustration of the Sequence of Opposite Numbers
-6
-4

I+
(@)

Number line

/

c) Difference between Zero and Zero-Part

The difference is shown viawikion in a fraction setting;

— means 0 divided into 1 part,

= means 1 divided into O part.

Explanation:

Zero as showabove is located at the numerator while zead is located at the denominator
of the fraction as explained in its meaning.

This means zero always refers to the numerator location whilegpaeralways refers to the
denominator location.

This provesZero is not equal to zerepart.
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d) Proving Zero -Part always Equates to Vacuum

This is shown via the difference between division by zero ane&zaomnumbers wih |
explained earlier (in pg20) by dividing an object into 3, 2, 1 and 0 part(s).

Through this | provedThe zero part of any object (quantity) is vacuum.

I n other words for instance when someone say
part of a kil ometero, they are saying very d
void or no distance mathematically because there are other iraghismaller or bigger

units of measuring distance e.g. gigameter (Gm), meters (m), centimeters (don) etc.

exampleO km in 500m = 0.5 kmhence 0 km in distance = unspecifiekim distance

On the other hand, the zero part of a kilometer meansthé¢ paof a ki | omet er t h
di stance. Il n other words i pabtandminzeralisneterds di st
ie.Opartandnot®i nce 1 to0s an atheskdometer distastiitaumldies i nsi de

to be called vacuum (= nothinggistance.

Nb The numeral one and zero are symbols that represent quantitypnly that the numeral
one represents a specific quantity while zero anonymous quantity/quantities; i.e. if
1EOOAT ,GErAU 1 pilhencemtl m n /1T AT T 1T UMIGGAAOE O
This is becauseero has a power of morgjuantitative value than itself yet it is
undeterminable/anonymous 1 At 1 . An anonymous quantity could either be an
average, very small or big quantity to the point of infinity.

MATERIAL 4

Proving Number of Parts can only be found in the Denominator Location

This is shown via tl following calculations;

3 parts + 3 parts = 9 parts (but not 1 part),

4 parts + 2 pas = 8 parts (but not 2 parts).

onwi 0ionwi 0i — DODE O—

THoi ok — DOME O—
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Explanation:

I f you divide 3 parts by 3, youoll have nine
parts; in the same way, if you divide 4 part
of the 4 parts is divided twice;

ie. — = - g = - - = —

This provesNumber of parts of any mahematical calculation can oty be found in the
denominator.

Proving via Addition
This is shown via the following calculation:
¢RnWi 0pnit 6 — = - P =p-

T ¢f @i odn «ihasa different operativeneaning frong  p because it hason
commutative propertiegse. — —

1 Operations involvind@ivision havenoncommutative propertiee.g.c ¢ ¢ 0.

Explanation:
There are 2 parts in ,

i.e.

If p = Object

Then — 1 1

Each of these parts is added to 1 (object);

- P = 1, | +| Object , | 12| ¥| Object
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The result is 2 parts ob2 + 1 .

Only one part of the 2 parts is considered as the answer becaussa¢heoecalculation
signgoperatoibetween each part,

i.e. No Operator

- p = 1, | +| Object | ? | 15|+ | Object

This makes the answer to be 1% which is a part of the 2 parts. This is the other way of
proving thatNumber of Parts can only be found in the denominator.

Deeper analysis
One may argue that 2 parts + 1 part is practically equal to 3 parts ankknot 1

This problem can bsolvedby understanding th&@Part®are(practically) attained via
division and division alone. In cases where we are calculating number of parts using a
different operator other than division, brackets must be introduced to force/arrest the
calculation to be purely a division one;

i.e.——=——=-=3 parts,

otherwise the result will still be correct but must be analyzed/understood differently from the
norm.

This diversity of Number of &ts is very important in analyzing the characteristics and
practical importance of this type of numbers;

eg.1+2 = — =1 part + 2 parts,

when the 61 part + 2 partsd is analyzed prac
numbers in relation to division i.e. you get the same result but with vacuum as part of the

parts. This helps us in analyzingngw al i ti es of vacuum which pro

analyzed via any other method and so on.
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MATERIAL 5

Types of Parentheses

As explained aboveg p ¢ p 0o on ol 0d
ie. ¢ p o but ¢ p 1%

This leads to a new proposition:

There are two types of parenthe$e brackets):

Specific & Non-specific parenthese

(To learn more about Specific and Nspecific calculatonssdgeSpeci fi ¢ Cal cul at
pg.16)

1 Specific parenthes areusedin a Nonfraction setting.
1 Non-specificparentheses are uskeda Fractiorsetting.

This is because recurring numbésdich are used to differentiate SpecifidNon-specific
numbersyareformed becausef fractions which are primarily maade the numerator and
denominator

Important notes involving specific and nonspecific parentheses

1 In my view, mathematicians have baeing Nonspecific parentheseshis is the
reason why, for example;— - NOT 1%

1 This also proves that Nespecific parentheses may not be specifically used where
logic prevailse.g.¢  p is logically or practicallyequal toc NOT 1%

1 Specific parentheses must be used whether logic prevails or not.
In other wordsNon-specific parentheses are silent where logic prevailsdiuso for
Specific parentbses.

T Nonspecific parentheses can t hiwostef ore be |
parentheseso for the sake of easier under

Further Proof of Non-specific Parenthesis
Formal Mathematical Properties/Logic of Division

Theformal mathematicdbgic of Division require that:

(I) d) 172 5 i
a) — 0 W W
®
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T L L
i N i n i
Analysis
1 The Parenthesis above are onbedtof or ce | ogi ¢ and avoid fAch
BODMAS rule.

1 Take note that they may not bpecifically used irafractionsetting hence can be
said to be Nosspecific Parenthessr f@laoetnt hesi s t hat obey
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MATERIALG6

Numerator for Number of Parts

The Numer al i 1 aumerasor far Bliembber a&f Parts h e N

A

This is because t doesndt affect them as their nNumer ¢

divided by one is equal to the same number; the same reason why the numeral one is used to
calculate integers in a fraction setting €A A E DIO A R R A E DIOHA A pic ;
Number of Partsim ¢fp =¢ p =¢ - = — = 1lpartx2parts

MATERIAL 7

Division cannot occur without movement.
|l tés this discovery that proves:
Any number divided by zero equates to vacuum.

| t idh@ortant to note that: Movements in reciprocal, multiplication, addition and
subtraction occur because every number is at all times in division mode of one;

a8 p -he -ho - Q8w
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MATERIAL 8

GENERAL OUTLOOK OF VACUUM CALCULATIONS

Symbol for Vacuum

The firstLatinl et t er of t loevacuedmdatirt vsa cvuuumbhen t he o6v o
its open ends with a slightly curved line, it becordgsence the universal symbol for

vacuum should b®, e.g.0+0=0, Reci.oft =10=0 i.e. 10=1+0=1+1/0=0, Opp.

of ¢ = Reci. =0 and so on.

Hypothesis

Whe®w 6 s placed before a number, it means t hi
number , it means the number has a future i.c¢e
again later (= in the future), in the same calculation and in the same waythefepecific

cal cul ation ends. After the number has been

of the number; also it attains a Past because it was (= past) calculated again. This results in
the number having both a future and a past justdiker ordinary numberOrdinary
numbers have a past and a future because they represent quantities which do

T 50x20=(95x92) x (@5 x02) Nb In this calculation, its Future is reached via
multiplication.

= 010 x910 =0100 =910C¢ = 100
1 50+20=(95+02)+ ©5+92) Nbo Future is reached via addition.
=07 +07 = 014 =0140 = 14

 50+2 =@5+2)+05= 950+ 2) +050 = (5+2) +5=12

1 50x9 =(05x9)x05
=0x05=0x%x950 = 0x5=0

1 50+9 =(05+0) =05
=(050+9) <950 =(5x0)+5=0+5 =0
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Writing Time Numbers in - Words

f 05=5=Five
95 = Past Five % Future
95 =95¢ =5 = Five

nb When a number has a Past (95, it must have had a Future (i.@) Shat
resulted in its Past hen98 =95¢ =5.

1 50 = Fifty,

5¢ = Five Future (or e 1 Future)
1 500 = Five hundred,

509 = Five 2 Future.
1 501 = Five hundred and one,

501 = Five 29 Future and/plus one i.e9%+ 1 = @5 + 1) +05+ 95
=050+ 1)+050 +050=(5+1)+5+5=16

M 5010 = Five thousand and ten,
5019 = Five 3% Futureand one ¥ Future i.e.
5000 + 10 = (05 +901) + @5 +91) + 95 +05

=022 =020 =2

Calculating Time Numbers

9 50+50=50 50+50= &0
+50 ; _ 95
100 010
+91
0200 =20
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1 500 + 500 =500 00+ 500 = €00

+500 90
1000 0010
+ 9010
0020
+ 9001
003000 =30

1 501+501=1002 ; 91 +501 =16+ 16=32

1 5010 + 5010 = 10020 59190 + 5010 =22+ 22 =4

Application of Time Numbers

Its simplest and probably one of its many important uses could be in Computer Programming:

All computer programmes would be ableetst in other Futures e.g™ Future, 2° Future,
Millionth Future etc. rather than now when they can only exist in Zero Time/RealiTime

Computers would process data differently in different Futures hence getting many new
realistic results for the sanpeoblem and that vary in nature.

This will lead to new technological advancements that are elusive to our present computer
programmes,

e.g. Problem @is unsolved but can be solved ia@?, therefore we can modifyu0?¢ in such
a way as to solve pbtem 2vhence leading to a new discovery of how to solve problem 2
(via solving the problem in its Future).

Example 1

Use the 2 Future of 3 to solve the equation: °

Solution

Let the 2° Future of 3 bedi.e. 090 0w

O C ® Qo600 ¢ ¢ 06 0 O
LT

YD i 0w ¢ T
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ow ¢ X

DRI Qi@ w ¢ uT
O ¢ LVLAIw o
G ¢ O

Tm" e ¢

In this case, we have used thé'®Future of 3 (=209), attained via multiplication, to solve
a Real Time problem.

Example 2
Use the 1 Future of 7 to solve the equation °
Solution
Let theadditive1® Future of 7 bed i.e.x® X
O X ®wodo X0 o X X
P X

YD i o X W pX

W pPX PT

w X

MR QQE 1T X X P X

O X PX X
O X pT
TII'JIIFI b

In this case, we have used thé'Future of 7 (=79), attained via addition, to solve a Real
Time problem.

T When solving equations involving Ti me
must also be a Time Number, otherwise the solution will not be of a Time Number
e.0.C0 CO Vo6 &KW ¢l

1 NB Considering my hypothes(see pg28) has been proven to be true by
successfullysolving a (Realtimeproblem, it qualifies tobe called a fieorem unless
the hypothesis is founichpractical via a scientific mathematical methead.Matrix.
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Example 3

Conduit Logic

Suppose we are to evaluate the core difference between the brain of a human being and a bird
or fish, we are likely taliscover that:

The most direct attributes we may note may involve their visual aspatten a human

being perceives via his eyésjomhé peecebwveds v
naturally and subconsciously unified into a single viewrder to see an object clearly. This
experiment can be done by closing one of your eyes. You'll notice that even though you have

two eyes, they are interconnected in such a way as to feel as though you have one vision

though you have two sources of yatsion.

On the other hand, a fish or a bird whose eyes face opposite directions (rather than adjacent)
perceive an obj ewxitsiiommnavhiate .l tchadilr AeSyd ivi si o
subconsciously split by the brain in order to see (multighggats clearly. This is because

their eyes relate with each otheropposite directions (otherwise Splision creatures

cannot view opposite facing views/images at the same time of which is notfteusplit-

vision creature closes one of its eyég direction it sees from one eye is opposite/negative

the other eye. It's the same as turning your head on the opposite direction.

If you are carefue n oug h, y ou 0 lvisionbrairt percetvés/aalculaés entire

visible environment as onéngular vision or many objects are subconsciously perceived/seen
as one visionin the same way, $plit-vision brain perceives/calculates its visible

environment as divide@F split) objects i.e. even in the case of a single object, the brain must
subconsciously split the object into one or zero parigX=or 1/0) in order to trigger

reasoning by its brain.

In this kind of scientific study, we find a new kind of complexity: No eratiow human

beings perceive/calculate visually, their reasoning towards what they perceive is always
subconsci-wiussiloyn & Uin.iea. man ihteanrayt .i cheN i ¢ iedg Mmd nod ro g
viewed as one (vision) i.e. 1.

In the same way, no matter hdish or birds (that have eyes facing opposite directions)
perceive/calculate visually, their reasoning towards what they perceive is always
subconsciously "sphiv i si on" i . e. di vided. | nv ias inoant ch ecraant
be viewed as one (Vvan) divided by a variable (vision) i.p.

Il n a mat hemati cal s c itoestate ithdt: A &nvisianbratisbbndto i t 6 s
fip wobjects" while e&plit-visionbr ai n i s blind to Al objecto.

Example

If we apply a sequence sothatwea n anal yze the difference bet
Visiono creatureviasdonhbdei ona mat hem&pi cal se
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much because a sequence calculation does not apply to numbers that do not change i.e. a Uni
vision braindoes not change and so is a Spiion brain. This is because they continuously
view objects in their own different ways i.e. eithepas pfa

Though this is the case, it's possible to calculate an original process in a latter time without
affectingthanging its originality. This is done via Time numbers i.e. the Futukeah be

a0, a09.... e.g. let's assume a Wision creature is viewing 2 objects. The 2 objects are
viewed as 1 object (= 1 view):

ie. 2 objects =1 object

but 2 objects i 1 object
hence 2 objects =0 objects

or 2views =1 view

but 2 views i 1 view

hence 2views = Qviews

This is because 2 objects ¢ dbjects depending on how it's calculated in its future.

The physical or theoretical scientific experiment that's done to-&ikion creature and leads
to 2 = X0 but using a certain scientific formula can be calleshduit Logic. This brings

about a new kind of scientific logic. The word conduit means chahheleceConduit logic

is channeled logic.

In relation to this example, we can come to a conduit conclusion that: Another name for Time
Numbers calculations in this respect is "Condeitjluence calculations” as opposed to
Sequence calculations i.e. wherdae is no sequence for a unitary number like 2, there

exists a Conduit sequence for the same e.g. The Conduit Sequence f@r, 200:ahd so on.
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Application of Conduit Logic

Computer Programming

Imagine a computer is solving an equation ands up with the result "2 = 1" eig.
mistakenly attempts to solve this equation which is undefing@inf ¢ (or for some reason
finds sense in solving it that way):

m p T

m ¢ T

The following must be true:
m ¢ T p

Dividing by zero gives:

Tt Tt
T[cT[p

Simplified, yields:

¢ P

It's possible for the computer to avoid this eminent logical crush to its system by applying
conduit logic; for example if the logic falls under "1 must be equal to 2 views" (rather than 2
must be equal to 1view), depending on itsgsam, then:

¢ P

w6 0 ¢ pv

ME 0 Q¢ 1 po

ORI QQE QP m
¢ p M P
¢ C

In this case the resultafi2o has been justified via a logical interface view paihthe Future

In layman language, the computer has given its logical pbwiew to the problem, in which

it can justifyvia a channeled (= conduit) view of the futui@her than being overwhelhe

(= crushked) by the problem.

In other words computers will no longer make errors (which cannot be corrected) but will
make mistakes insteaghich can be corrected by giving it a logical point of view. It will
then calculate thigiew via Corduit Logic and tryto find it in variousfutures. The computer

will then either perfect your view or give reason why this given view is impractical. In other
words it would be possible to have a conversation or even an argument with a computer.
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MATERIAL 9

The Vacuum Formula

Since - - -é. —t—Erecﬁ-zv

Hence the formula: Any number divided by Zero equates to Vacuum

ie. — =9

Application of Formula
Use t he oho Pdnutlaa Dol ve trifre Reci procal of

Solution

- ¥ hence thd&keciprocal of — equals the reciprocal ©f

Formula: 2= Q

CReci.of -=-

But - -
Hence W - -
Thus m T

Therefore reciprocal o 1t
NB This is true if ®

But if W T
Then m - - T

Thus @ 1T T T

Tt Tt
Tt Tt
T Tt
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MATERIAL 10

Difference of Coefficient results in Vacuum Calculations

- T T T T LIS
But - m - - - ™ T
Explanation

Though the calculations stamtthe sameavay, their seems to be a difference in the end result:
In the first case, we divided= 1 and then we multiplied by zero 1 .

In the second case, we multiplied the nunegtnd denominatoeparatelyand then we
divided the results.

But if we follow the BODMAS rule, we are obligated to divide first, and then multiply.
This proves: - 1 1 NOTTT

Therefore: 9

MATERIAL11

Mathematical Relationship between Vacuum and Real Time

Considering 606 al so me a-additiorRie asl futufiei&nTéme ( wh e r «
subtraction its past), it is prudent to state:

¢ m 1 or Vacuum x Real Time = Real Time.

If Real Time =y then? w

Co - or 0OH6 66— = -

It is important to note:

1, 2 gquangtiés in Realime quantitese qu at e t o all@@uidtable guandities e
exist in the Present/Real TimeandNOT in the Past/Future (=Vacuum).

Thereforel , 2, 3é= 0 (in Real Ti me Calcul ations C
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This therefore obligates:

1=0o0r 2 =0 etc. is allowed and correct in Time Calculations.

Example of Real Time Quantity Conversion

0 pin
Cm 0 peiE@xE
Nb (#)x(¥) (+) Me¢ oo T (+H0o) i

but 1 = 0 in Reallime quantities calculations
Thereforem ¢ pt ™ 9 T € i(F)x(2) (%)

In this regard | propose a new typermfmbers that | calReal Time Numbers, i.e. whereas
there areReal Numbers which differ from Natural Numbers by virtue of Real Numbers
incude Negativdntegers Real Time Numbers are Real Numbers butin a Time where

any of its addition is its future and substraction its past hence are always equal to Zero.

Note

If this (Real Time) conversionis not taken into consideratipthe multiplicative inverse of
Zero should not be attemptedbecause:

Zero (and 0 parf= ) should NOT be expected to behave similar to other numbers in some
aspects because zero as a number is signlesoatainsboth Positive and Negative
gualitiesat the same time (hence signless) e.g. when using division as the inverse of
multiplication:

1/0 =9, therefore® x 0 = 1 or (:0) x (x0) = (+1), but () x (£) (+), hence the
Multiplicative Inverse does not apply to zero in this aspecif it does, there exist a
contradiction between inverse and operationslinrg signs of numbers.
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MATERIAL 12

Reasonwhy the Multiplicative Inverse should b e Treated with Caution in

Traversing Time Calculations
The multiplicative inverse cannot be performed without the equal sign.

The equal sign basically means both sides of the equation are equal at the same time but NOT
at different times.

In Time calculationshowever,the Time differs from Present (=0) to Future & Pa0)(=
hence cannot be assumed to be equal @iralts because of the time difference.

eg.m m T hence m - but m -

In other words the reciprocal of Zero (which is mandatory for itiigtiplicative inverse)
happens to be in a different Tinsempared to its reciprockence cannot be assumed to be
equalin relation to Time.

e.g Reciprocal oft -

but Reciprocal of¢ -

Explanation

The reciprocal of Zero happens to be in th&ure/Past (=0) but the recipro
happens to be in the PresentOf=hence their multiplicative inverse cannot be expected to be
calculated in the same way.
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MATERIAL 13

Catalyst of Traversing Time in Mathematics

Known theorems thatmust be observed when dealing with division by zero calculations

I.  If the calculation involves Real Time numbers only, BODMAS or BOMDAS rule can
be observed.

eg.¢ p 0 ¢ p 0 ¢ - Gfo

OR ¢ p o ¢ p 0o ¢ o©0 clo

ii. If the calculation is in Real Time bumvolves a division by zero calculation that
interacts with the present, only the BODMAS (rather than the BOMDAS) rule can be
used.

e.g.Find the eciprocal of Zero in its present/real time Reci.of 0 -

But: - O\ 0EEF p NbAnyn.umber(.NOToperand)
mul tiplied by eglé
1/3 = 0.333¢é but
Hence: - p 9 p
Tt

Therefore the reciprocal of zero in Real Time

NB The operands A1/ 0 and dslbéecausetie caculaiene nt / R
is purely in the present (in the context of operands and not nusibgtsarly) i.e. the
end result must be in Reainfe because of the use of the BODMAS theorem.

Therefore this type of operands can also be cdliest Operands

ii. If the calculation is purely in the Pasitbre but involves division by zero calculation
that interacts with the future, only the BOMDAS rule can be observed.

e.g.Find theRecipocal of zero in its past/futuret Reci.of 0 -

But - Q0N 6adE p Nb Any number(NOT operand)
mul tiplied by eglé
. 1/3 = 0.338é&1biit 1
Hence: —— - Y
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Therefore the reciprocal of zero inPast/Future ¢

NB The operandé 1/ 0 and ture oparaads Bna sat ReBME operands
(in the context of operands and not numisgmgularly) i.e. the calculation is purely in
the Past/Eture because of the use of the BOMDAS theorem.

Therefore this type of operands can alsecdléeedTime Operands

Deeper analysis

Time Operands suggest that the numerals used have already been calculated, even before they

are i.e. 1tos |Iike glaring into the.resultan

For exampley ou can make the judgement that t he
t hough #A1/0 Past / Fu talkeadgkoowrideterrainedveich inhthes e n d
case is zero (= Real Time).

This therefore means the judgement you take about the nisncaray no risk because the
end result is already knowag. making judgement on whether to egberthe BODMAS or
BOMDAS rule.

On the other hand, a coefficient suggests that the numerals have not yet been calculated
because the end result can vary aelreg on how the calculation is executed. In other words,
contrary to Time Operandspefficientoperatios cannot be preletermined.

In this context,Time Operands are similar to coefficientsbecause both can have varying
results but the difference is ihe predetermnation of the end result.

Conclusion

The rules of operations (i.e. BODMAS & BOMDAS) operate differently in different times
because division is the catalyst of time in mathematics (since it enables us to have past and
future numbers) hencesiinverse (= multiplication) must as well be a catalyst of a different
time when it takes priority over division (as in the case of BOMDAS).

NB To understand why the reciprocal of zero can either be zero oumaaee Specific
Calculations (B. 16).
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MATERIAL 14

Reasonwhy the Past is Equal to the Future

The most obvious reason is because both the past and future are equal to vacuum (as
previously poven).

To put this into context, we will have to compare the past & future to the present:

A E LR s =

> Ym- e <

Therefore i f APr@®santi Quasdititben=PRetal & Fut
guantities because real quantities are reality quantities i.e. real quantities are the present
guantities.

But one may ague: Since past & future quantities are not real quantities, then they must be
fake quantitie®r if not fake they must be dilating time as explained by Albert Einsidia
problem with this argument is the realisation that even &akdilating quantities are real
guantities otherwise they would not have been seen/detected as thlleding quantities.

This therefore dictates th#étue/scientific future and past quantities are the quantities
that are simply not there hence can be calculated as void/vacuum quantities because they
relate to present quantities via space i.e. vaculaoesp

Take note that this is not an assumption as it uses the scientific equa¥gnQ QQ
0"Qi 0 & BN Twhere Peed =Movementof a quantity Distance =Physical
length or space of a quantity &Rl time = a reajuantity.

This equation can be scientifically proven because when a quantity moves, the only
physical/scientific test that proves the quantity has moved is the same i.e. the physical
guantity.

On the other hand;ime cannot be used to prove physical mogat becaus&ime cannot be
seen physicallye.g. thecolor of Time does not existjence cannot be used to prove any
physical equation. This is the scientific difference between Time and Real Time.

Distance is physical becayder instance a wheelexperience movement whether it covers
distance or ngtwhen rotatedNB a rotating wheel is a very scientific/testable example as
to the proof that any division requires movementbut any movement does not
necessarily require division as in the case of a rotating wheel.

This test is more viable than thdb&rt Einsteinone because thginsteinscientific dilating
time-test cannot be performéd proven) by a blind persdmecause it requires ligbut mine
can be proven bany blind peson for blind peopleelate toTime as well.
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MATERIAL 15

The Coefficient Conjecture

Sincem T 1T,

We can assument  mipltlo8 1

Thereforem ® Tt

Hence the conjecture:9 e

In the same way:
T T T
Nb 1 - T
Hencem m T
We can therefore assume  tiplgfo8

Thereforem w T

Hence the conjecture¢ o @

1 NB If my proposedReal Time Numbers(see pg37) can be accepted aggpe of
Numbersthenmy conjecture with the variabtee (of which equate to Zejaan be
proven as a theorem rather than a conjectinere the numeratoequate t€06for
the division conjecture (because division has non commutative properties)

Examples ofCoefficient Conjecture
Example 1

P
ﬁpe

BODMAS Rule

P v p

310
o
310
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Coefficient

Conjecture

Q w Tmhence? p T

Example 2

2" Coefficient Conjecture

[Y ¢ hence Y VJ

Therefore 9 ' p T P Ibho ¢KS [Stad /2YY2y adf GALXS o]
p P p 0S0OldaAaS wnQ Oly o6S Ittt 2N lyeé y

Thus 9 p p As for Vacuum, the Least of its Comnpmssible Multiples to be used as

AGad RSY2YAYFIG2NI Ad WYMQ ADPSd MPRM

Example 3

P

- ¢ €

) 0 ¢ 1 C

- ¢ 9 ¢ = = — S

mn p P P

Therefore ¢ ¢ C

2 AAOI

I xEU E O &@ddioi SDbtréci VAchuA I A

T w0 90
P

|
|

oI

oI

oI
=

P

CoO ¢ mMO9 9 m

This meanse? 9c= Reciprocal of¢ and alsoc® ©@c= Reciprocal of? .
The (reciprocal) deducememtings out an interestingnathematicatliscovery becausée

Reci p

rovoal soél 8o it qseeopplg)pasd as we alhkmaywheeopposite

of numberds determineftleducedy the additive €) and subtractive-] signs of numbers.
Therefore a positive or negative Vacuum number is equal to ifsoeal and thus equal to

Zero.
i.e.

v§nhence0n Q Oﬁnhencevn
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This proves t NiO3 AT ALL possible to add or subtract Vacuum because doing so
simply implies that you arenot actually adding or subtracting but rather trying to
determine/calculate its opposite number.
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MATERIAL 16

HISTORY OF VACUUM CALCULATION

History of Vacuum&culation did noexist until2012 AD vighe discovery oflie Philosophy of
VacuumGCalculation agexplained below. This ecause there wasamconceptualization/discovery
on how to do it.

Chronology of the Philosophy of Vacuum Calculation

In early January 2012, | was boiling water to brew strong tea. Once theboéeel, | went

to open the lid so as to put some tea leaves but | noticed something very fascinating; the
water vapor was literary flying like a bird to the air and out of the house heading to the sky
and finally to the clouds.

| then started wondering whwater is capable of carrying itself, as thousands of liters of
water in the form of clouds, yet not powerful enough to carry us upwards if we hold on to it
in the form of water vapor.

| thought that, if one could hold on to the water vapor without tunitegdistilled water, one
could fly. This could only happen if | am able to compress the water vapor but retain it as
vapor.

The idea of vacuum had been born: A partial vacuum with boiling water in an enclosed
container, could compress water vapor frowa Iboiling water, thus lifting the container
upwards if the water vapor is compressed enough to lift it.

| practically tested this idea by using a glucose tin while using a stove as an improvised
heater to boil the wat edr ttihnat oMy ienxspiedre ntehnet
maybe because | was using improvised equipment.

| tried making a prototype of the same by introducing ice cubes on the lid of the enclosed
container to reduce the effect of expansion of the air which had on many octédavams

away the lid. This idea sometimes partially worked because at times | could hear a sound like
the one of the wind inside the container. This, | thought, was as a result of the expansion and
contraction of the air hence creating a maade wind insidéhe tin.

If the idea had worked, the next generation prototype would have included an electric heater
at the base and cooler at the top of the container in such a way that they are all joined together
as one compartment. This would ensure a progres#idflof the prototype in such a way

that its speed could be controlled by increasing or reducing temperature from the electric
heater or cooler. Direction would be regulated by maybe having two heaters at the base, in
such a way that reducing or increagihe temperature of either one of them helps in change

of direction. Advanced prototypes would have led to the manufacture of space ships that float
Omiracul ousl yo.
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The idea of the space ship encouraged me to do more research of my experiment.

The Daybefore the Discovery

On the ' of February 2012, as | was trying to improve my experiment, | forgot to reduce air

by ensuring | thoroughly heat water in the container. This would ensure that most of the air
expands out of the container so that when Ittighy encl ose the 1 id, itds
pressure. | therefore removed the tin from the heating stove to perform this procedure. As |
opened the lid of the tin, | noticed air was rushing inside the container meaning a partial

vacuum hasbeenformeds i de i t. Thi s al so meant some ai
container 0. | decided to note this down as p
it into a physics equation i.e.

O Wi OO DDOOBD &

The Day of the Discovery

In the morning hours of thé®of February 2012 as | was going through my notes that | had
accumul ated from my experiment, |l noticed a
was strange to me betfisuse | didnét understan

This prompted me to find a better terminolog
it means it has moved from its location to another, therefore the better terminology for the
word Escape i s Movement 0.

| therefore replaced the originaj@ation with:
O£ 0 QA QEDNWOD &
| generalized the equation to:

DGO WRIL QG QEWDD D OB G

Immediately after generalizing it, it brought out a new meaning in my n@nd | were to
move any matter, vacuum would be formed.

There was a cup nearby, therefore | decided to practically test my new equation; as | moved
the cup, | would visualize in my mind how vacuum was being formed behind it and how air
quickly filled the vacuum space.
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The Moment of the Discovery
In my observations, | had generalized vacuum inside the container as zero meaning nothing.
| decided to apply the zero to my equation i.e.

0 wo ARiv Q& Qe

Since moement of matter isalculatedas $eed; and feed= Distance over ime taken, |
generalized it to:

— I or - T

To make sense of my new equation, | sought to find out how the Distantenamavould
relate to my equation i.e.

- m ,0 WY , 0Q 0HtmQ
This made some sense, imthhe Dstance that remains because of the movement of the cup

was indeedriacuum as | had practically visualized.

| soudht to find out how Tme would relate also;
- 1, YQa Q-

| realized that this is an incorrect calculation because | knew that when you divide anything
by zero, i1itds undefined.

Since Dstance is covered by matt@hich in this case is the cup, | decided to replace the
word Distance with Cup in the equation;

YQa Q—

| tried to make an analysis of it;
YQa Q06 0 QL "COEQIX i &0 i80 i

| simplified the languagef the equation;
YQAaQOooNQn i WD @QIN& 180 i

| realized that if | separated the cup into nothpagts;l have separated it and separating it, is
moving it. | therefore practically separated the cup and yEsjum was formed.

| rushed to find a calculator to confirm that when you divide(oop)into zero parts, it is
undefined; therRRO®Bsahd was, fiMatnkh made a mat h
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MATERIAL 17

History of Division by Zero

Early Attempts of Solving Division by Zero Calculations

The Brahmasphutasiddhanta of Brahmagupta is the earliest known text to treat zero as a
number in its own right and to define operations involving zero. The author however failed in
his attempt to explain divisiorylzero.

According to Brahmagupi@®98- 668 AD),a positive or negative number when divided by
zero is a fraction with zero as a denominator. Zero divided by a negative or positive number
is either zero or is expressed as a fraction with zero as numerator and the finite quantity as
denominator. Zero dided by zero is zero.

Il n 830 AD, Mahavira al most succeeded to corr
Ganita Sara Samgraha: AA number remains wunch
because Mahavirabs expl ahieht exgminedindacuamth most si nm
CalculationPhilosophy B.9,Ail f you di vide one cup into zerdc
divided it at all o.

Mahaviratogether with all the other mathematicians that came after him, who attempted to
solve division by zero, succeeded in all way
separation and separation requimtes v e m &actum &alculatiofPhilosophypg. ©.

In other words, the mathematicians were more concerned witkxitvatic value of a
division rather than the reality of a division.

In conclusion: Mathematical calculations should never be resolved in an axiomatic way, for
axioms may sometimes hinder other important realities of a calculation because of the
perception that they are beyond reproof.
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RESULTS AND DISCUSSIONS

1) RESULTS

Prologue

Division by zero is the dividing of a quantity or quantities into zero parts. This calculation
was unsolved.

Thesis

When a quantity is divided into zero parts, it means it has not been divided at all, but any
division requires movemenyhen the movement of the quantity occurs, a space/void is left.
It's this void that's called Vacuum. This means any number divided by zero results in
Vacuum.

Method

Division by zero is solved vidne newLaw which states: Division cannot occur without
Movement.

In other words, for any division of a quantity to occur, there must be separation which
necessitates movement e.g. 1 (quantity) divided into 2 parts results in two equal parts; the 2
equal parts are as a result ofagpion whch requires movement.

Results

When movement of any quantity takes place, an empty space is left as a result of the absence
of the quantity that moved; since absence of quantity is defined as Vacuum, the result of
dividing any quantity into zero pantsust be left to be Vacuum.
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2) DISCUSSIONS

The answer to the conundrum involving divisi
conundrum rather than fAout of 1to.

In other words the answer to division by zero was not merely a calculation issue but a
scientificcalculation issue. This means mathematicimese more interested in giving
dedugble results to the problem without considering any dddedut practicatesult to the
problem.

For example 6one quantitydé divided into 061 p
without asking whether the division (= separation) actually took place. In my view

mathematicians generally treated this result as oneeah#giccharacteristicef

mathematics i.e. it mysteriously and mystically resulted into one quantity even though no

division was actually scientifically visible.

If these mysteries and mystics of mathematics were lookén ascientific/practical way,
then probably this problem of divisioly kero would have been solved in more than a
thousand years adry Mahavira who came so close to viewing division with scientific
reasoning rather thamith amystical and magical reasoning.
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CONCLUTION

Division by zero has been the missing link to many problems in mathematics because it
opens the door to the future and past of mathematics literally.

| t ndv8 possible to solve a mathematical problem ifuitisre whersolutions in the present
are not viake, accurate oin some casegossible.

This is themainsignificance and importance of solvitige division by zeroproblem.
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